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Write shart answets to any SIX parts. (6x2=12) e Al 2
- . T = 7 -—_‘._ -
A= |] " thenfind3a, £ TgA= S
2 0 2 0]
Simplify. (2°) =% PPt =2
Fuatuate, (-1’ (=i amead
Find value of “x " if dog,. 2 =x fogy 0= Sk il
Define scientitic notation. PSS
nifs E NS
Evaluate. M if x=—4 and y=9 p=Qaix——4 . .8 = Erred i
S(x 1) ‘ 5(x=)
simplify. §/2435° /%% P43 EF v
Factorize, 27x° — 64" % 275 =64y =G i
Define remainder thaorem. Eo lhe  x
Write short answers to any SIX parts. (6x2=12) EEGE Y, P R |
Flad ecuare root by factorization, 4" =1 2xy+9y° ax' — |2y 9Pt b B A A s
Solve foi x. Px+ sl=11 2x+5 -1 _q’{fk‘;.édfx it
Solve the Inequality. 3x =< Sx—4 TaaleSy—4 2 o i
Braw the graph of equation. == -3 x=—3 _::_,_._:v"!’ =hle v
Find the values of m and c of the given quation by epressing i e 2 (¢ st L5802y mx = ¢ fieeld v
= PR T, L :
the form of y = mex +o ¢ r=2y+4=0 iy d=0
Find the dissance hetween two points. A(2,-3), B(4, 1) A(2,-3). B4, 1) e o bbbl bibn v
Find mid-point between twa polnts. A(4, 2), B(8,~4) A, 2), D(8.—4) 25 Bl it il
Define $.A.5 postuate. AP P S
D Fl
" il 11 " 5
If the given figure ABCD Is a parallelogram, then /N“ 7 sl 2 ABCDL BN PEG s
find x and mi. !
g
Write short answers to any SIX parts. el A Lz 4
In the givan congruent triangles I MO and LNO, ot ’ ' i Pl ;
find cut the value of unkrownx and »r. -ﬁ.fr 2 Jmaixe W ALNOw LMOws &5
Zem. 3em and Scm are not the sides af a trlangle. Give reason. St T s Z et Som, dem, 2 i
Define similar tiangles. S U g i
Find value of x Inthe given diagram. 5 PN 04" LY v
Verify that the triangle which has the measures of the gven sides  —c-&losi/in i S Al e
is ight-angled tlangle. = =Ycm, 6 =12cm, c=lcm aw9cm, &=120m, c=15¢cm
Find the area of a square whose length of one side I8 6em . e bem QI LN B o JXE s i
f_“ﬂ_? ) .
Find the arez of the given diagram. /1. / _;glaf’;,b’:,'?&.-edj i
dh
Define circumcenter, SE A FSAL s i
Constructa AABC, in which LALAABC  x
mAB=4.8cm, mBC=3.7em, mZB=60" mAB=4.8cm, mBC=3.7cm, mB=60°
(élﬁj.'l)
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Attempt any THREE questions. Each question canies EIGHT marks (4+4), But question No.9 Ig compulsory.

Use matrix inversion method to sofve.
2x+2y=4
=6y + Ly

st =) ) =)

{1678 x4.01
Use log table to find the v of ——
log e value 0534

I Sx_‘i_l': 7 then find the value of 27’ —~' =.

3x 28
Faetaﬂzebyfac:turthearem. -2zt

Use division methad te find the sfuara oot of 9x*
Solve the equation, .t-r-:_i;- = zr_xu_f) - bx

>
Construct a triangle POR and draw its altitude i,
mPQ =45, mQR =3 9cm, prfe - 45°

Prove that any point on the bisector of anangle is
equidistant from Its arms, 5@46

st

OR

Prove that triangles on equal bases and of equal
altitudes are equal in area.
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2x+Iy=4

-Gx+ dy=7
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B0 L nag b APQR
P = 4.5¢m, mQ_R=3.9r:m, mLR =45
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